n 0.05
@
2.045F
©
2,0.04F
£
ggoss
=
E(los
©.025
£0.02
(&]
9,015
(9p]
0.01
0.005

......................................................................

J..uQ:

Ratio

b

0.95F

+

038

30 40 50 60 70 80 90 100
Pileup

—=— DQM_TT__ORIGINAL
—e— DQM_TT__MODIFIED_layerProcv2
—— DQM_TT__MODIFIED_layerProcv2_

OctoberVersion

»n 0.05
Q
2.045
©
2.,0.04
=
g@oss
=
E(103
®.025
£0.02
(&)
$.015
(0p]

0.01]

0.005
L0f

Ratio
T 1 |_\ T

UU.UO[
Q@
9.045
©
2,0.04
£
3@035
=
E(IOS
©.025
£0.02
(6]
9.015
wn
0.01
0.005




	Contents
	Page 1


